








13. The diagram below shows nucleotide sequence in the DNA.
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a) Identify the type of genetic mutation shown.
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b) State the significance of mutation in evolution.

14. Name the causative agent of whooping cough in humans. (1 mark)
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6. The diagram below represents a plant in the division ggf?\laphyta.
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i) Name the part labelled B D. ; (2 marks)
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ii) State one function of each of the partsl labeiled A and C. (2 marks)

Auunu-;-u.uu-u.-.u.u..uu-uu.uuuun.nuuuu.u--un-u--.»--"uunuuu.u-..-u.un.-u-.n-uu.uu.u-unn-.uuuun-nu-nuu--.uu

C--;uuu-u-.uu.u-u.n-u.-uuu-uu.u..u--.uu-u-u.u".u-u-u--uuuuu-u-u-u-.u-"".".".------ SesEsssssEEsssssdEEE R e e

. How are tracheoles of insects adapted to their functions? (2 marks) -
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30. The diagram below shows part of a mammalian skeleton.
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c) Identify the bone that articulate at point X.
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d) Name the bones that articulate at the distal end of the bone represznte@% the diagram. (1 mark)
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